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M. A./M. Sc. (Fourth Semester) (Main/ATKT) 
EXAMINATION, 2020 

GEOGRAPHY 

Paper XVII 

(Agricultural Geography) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 
 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  
(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 
(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 
Choose the correct answer : 

1- izFke ckj df̀”k dk;Z izkjEHk gqvk  

¼v½ 10]000 bZ- iwoZ 

¼c½ 5]000 bZ- iwoZ 

¼l½ 3]000 bZ- iwoZ 

¼n½ 1]000 bZ- iwoZ 
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Agricultural work started for the first time : 

(a) 10,000 B. C. 

(b) 5,000 B. C. 

(c) 3,000 B. C. 

(d) 1,000 B. C. 

2- df̀”k ,d izdkj ls % 

¼v½ lkaLdf̀rd <ax 

¼c½ thou fuokZg dk rjhdk 

¼l½ [ksrh djus dk rjhdk 

¼n½ Qlysa] i’kqikyu] oU; fØ;k,¡ ,oa eNyh idM+uk vkfn 

Agricultural is : 

(a) Cultural/Traditiond method 

(b) Subsistance method 

(c) Method of Cultivation 

(d) Crop, Animal husbandry, Forest activity and Fishing 
ect. 

3- lefUor mikxe dks df̀”k Hkwxksy v/;;u esa fdl mikxe ds uke ls 
tkuk tkrk gS \ 
¼v½ izknsf’kd mikxe 
¼c½ Øec) mikxe 
¼l½ oLrqijd mikxe 
¼n½ O;kogkfjd mikxe 
Integrated approach is also known as which Agricultural 
Approach ? 

(a) Regional approach 

(b) Systematic approach 

(c) Commodity approach 

(d) Behavioural approach 

 [ 3 ] D–901 

 (B-31) P. T. O. 

4- df̀”k esa lkaf[;dh; fof/k;ksa dk izkjEHk dc gqvk Fkk \ 

¼v½ 1950 

¼c½ 1930 

¼l½ 1940 

¼n½ 1960 

When were Agricultural Statistical methods started ? 

(a) 1950 

(b) 1930 

(c) 1940 

(d) 1960 

5- Hkkjr esa ladk;Z tksrksa (holding) dk vkSlr vkdkj D;k gS \ 

¼v½ 9 gsDVs;j 

¼c½ 4 gsDVs;j 

¼l½ 7 gsDVs;j 

¼n½ 1-10 gsDVs;j 

What is the average of oprational land holding in India ? 

(a) 9 hect. 

(b) 4 hect. 

(c) 7 hect. 

(d) 1.10 hect. 

6- ubZ df̀”k uhfr dc LFkkfir dh xbZ Fkh \ 

¼v½ tqykbZ] 2002 

¼c½ ekpZ] 2004 

¼l½ ekpZ] 2002 

¼n½ tuojh] 2004 
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When was the New Agricultural Policy established ? 

(a) July, 2002 

(b) March, 2004 

(c) March, 2002 

(d) January, 2004 

7- ‘kL; izfr:i esa ifjorZu ds dkj.k gSa % 

¼v½ HkkSfrd ,oa rduhdh dkjd 

¼c½ vkfFkZd dkjd 

¼l½ ljdkjh uhfr;k¡ 

¼n½ mi;qZDr lHkh 

Causes of change in cropping pattern : 

(a) Physical and Technical factors 

(b) Economic factors 

(c) Government policies 

(d) All of the above 

8- df̀”k mRikndrk fu/kkZj.k ds vUu rqyukad (Grain equivalent) fof/k 
dk iz;ksx fdl fo}ku us lq>k;k \ 

¼v½ busnh 

¼c½ ,e- th- dS.My 

¼l½ ts- ,y- cd 

¼n½ ,y- Mh- LVSEi 

Which scholar used Grain equilvalent method for 
Agricultural productivity ? 

(a) Ennedi 

(b) M. G. Candle 

(c) J. L. Buck 

(d) L. D. Stamp 
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9- jQhmYykg us Qly la;kstu esa fdl fof/k dks viuk;k gS \ 

¼v½ vf/kdre ldkjkRed fopyu fof/k 

¼c½ e/;e ldkjkRed fopyu fof/k 

¼l½ U;wure ldkjkRed fopyu fof/k 

¼n½ buesa ls dksbZ ugha 

Which method has Rafiullah adopted  in crop combination ?  

(a) Maximum positive deviation method 

(b) Medium positive deviation method 

(c) Minimum positive deviation method 

(d) None of these 

10- buesa ls dkSu&lh [kjhQ Qly ugha gS \ 

¼v½ dikl 

¼c½ ew¡xQyh 

¼l½ eDdk 

¼n½ ljlksa 

Which of the following is not a Kharif crop ? 

(a) Cotton 

(b) Groundnut 

(c) Maize 

(d) Mustard 

11- df̀”k LFkkuh;dj.k fl)kUr dks fdlus izfrikfnr fd;k \ 

¼v½ okWu F;wusu 

¼c½ ,Me fLeFk 

¼l½ fxCl ,oa ekfVZu 

¼n½ OghVylh 
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Who propounded the theory of agriculture location ? 

(a) Von Thunen 

(b) Adam Smith  

(c) Gibbs and Martin 

(d) Whittlesey 

12- taxyksa dks tykdj dh tkus okyh df̀”k dgykrh gS % 
¼v½ ?kqeDdM+ 

¼c½ thou;kiu 
¼l½ >wfeax 
¼n½ i’kqpkj.k 
The Agriculture done by burning forests is called : 

(a) Nomadic 

(b) Living 

(c) Jhumming 

(d) Animal grazing 

13- fdl o”kZ esa Mh- OghVylh us fo’o ds df̀”k izns’kksa dk oxhZdj.k fd;k 
Fkk \ 
¼v½ 1836 
¼c½ 1901 

¼l½ 1936 
¼n½ 1947 
In which year Whittlesey gave classification of Agricultural 
system of the world ? 

(a) 1836 

(b) 1901 

(c) 1936 

(d) 1947 
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14- jk”Vªh; Hkwfe mi;ksx uhfr fdl o”kZ esa rS;kj dh xbZ Fkh \ 

¼v½ 1982 

¼c½ 1988 

¼l½ 1996 
¼n½ 1990 
In which year was the National landuse policy formulated ? 

(a) 1982 

(b) 1988 

(c) 1996 

(d) 1990 

15- Hkwfe dh {kerk dk oxhZdj.k inkuqØe esa fdrus Lrjksa esa fd;k x;k  
gS \ 
¼v½ {kerk bdkbZ 
¼c½ {kerk mioxZ 
¼l½ {kerk oxZ 
¼n½ mi;qZDr lHkh 
The capacity of the land has been classified in how many 
levels in the hieranchy ? 

(a) Capability unit 

(b) Capability sub-class 

(c) Capability class 

(d) All of the above 

16- dkSu&lh d̀f”k tyok;q [k.M Qy ckxkuksa ds fy, fo[;kr gS \ 

¼v½ mŸkjh&iwohZ ioZrh; izns’k 

¼c½ mŸkj&if’peh ioZrh; izns’k 

¼l½ if’peh rV 

¼n½ e/; xaxk eSnku 
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Which Agro-climate zone is famous for fruit orchards ? 

(a) North-Eastern mountain region 

(b) North-West mountain region 

(c) Western Coast 

(d) Middle Ganga plains region 

17- fuEufyf[kr esa ls fdls [kk| ,oa df̀”k laxBu }kjk [kk| lqj{kk dk 

LrEHk ugha ekuk tkrk gS \ 

¼v½ miyC/krk 

¼c½ fLFkjrk 

¼l½ mi;ksfxrk 

¼n½ i;kZIrrk 

Which of the following is not considered a pillar of food 

security by Food and Agricultural Organisation ? 

(a) Availability 

(b) Stability 

(c) Utilization 

(d) Adequacy 

18- fuEufyf[kr esa ls dkSu&lk laoS/kkfud izko/kku Hkkstu ds vf/kdkj ls 

lacaf/kr gS \ 

¼v½ vuqPNsn&21 

¼c½ vuqPNsn&39 ¼v½ 

¼l½ vuqPNsn&47 

¼n½ mi;qZDr lHkh 
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Which of the following Constitutional Provisions is related 
with right to food ? 

(a) Article–21 

(b) Article–39 (a)  

(c) Article–47 
(d) All of the above 

19- Hkkjr esa lw{e flapkbZ ;kstuk dc ‘kq: dh xbZ \ 

¼v½ ekpZ] 2002 

¼c½ ekpZ] 2004 

¼l½ tuojh] 2004 
¼n½ tuojh] 2006 
When was the Micro Irrigation Plan started in India ? 

(a) March, 2002 

(b) March, 2004 

(c) January, 2004 

(d) January, 2006 

20- Hkkjr esa jklk;fud moZjdksa ds nks cM+s miHkksDrk gSa % 

¼v½ vkU/kz izns’k ,oa egkjk”Vª 

¼c½ iatkc ,oa gfj;k.kk 

¼l½ iatkc ,oa mŸkj izns’k 

¼n½ mŸkj izns’k ,oa vkU/kz izns’k 

Which are the two largest chemical fetilizer consumers in 
India ? 

(a) Andhra Pradesh and Maharashtra 

(b) Panjab and Haryana 

(c) Panjab and Uttar Pradesh 

(d) Uttar Pradesh and Andhra Pradesh 
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 [k.M&c izR;sd 2 
(Section—B) 

vfr y?kq mŸkjh; iz’u 
(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A dsoy 2&3 okD;ksa esa mŸkj nhft,A 
 Attempt all questions. Write your answer using 2–3 

sentences. 

1- df̀”k Hkwxksy fdldh ‘kk[kk gS \ 

Which branch is Agriculture Geography ? 

2- gksyhlhu dky fdl bZ- iwoZ dks ekuk tkrk gS \ 

Which B. C. is the Holocene era considered ? 

3- Qly xgurk dk lw= D;k gS \ 
What is the formula of cropping intensity ? 

4- ,l- ,l- HkkfV;k ds mit lwpdkad dks Li”V dhft,A 
Describe yield index of S. S. Bhatia. 

5- lu~ 1826 esa fdl fo}ku us df̀”k Hkwxksy ds {ks= esa egRoiw.kZ ;ksxnku 
fd;k \ 

Which scholar in 1826 made an important contribution in the 
field of agricultural geography ? 

6- fdl fo}ku us fo’o dks 13 df̀”k izns’kksa esa ck¡Vk gS \ 
Which Scholar has divided the World into 13 agricultural 
regions ? 

7- [ksrhgj etnwj dks ifjHkkf”kr dhft,A 

Define agricultural laborer. 

8- iks”k.krRo ls vki D;k le>rs gSa \ 
What do you mean by Nutrition ? 
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 [k.M&l izR;sd 3 
(Section—C) 

y?kq mŸkjh; iz’u 
(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A vf/kdre   75 ‘kCnksa esa mŸkj 
nhft,A 

 Attempt all questions. Write your answer   75 words. 

1- df̀”k Hkwxksy ds fodkl ij izdk’k Mkfy,A 

Focus light on the development of Agricultural Geography. 

2- df̀”k Hkwxksy ds v/;;u esa Øec) mikxe dks le>kb,A 

Explain the systematic approaches to the study of 
Agricultural Geography. 

3- lkekftd&vkfFkZd rF; fdl izdkj ls df̀”k dks izHkkfor djrs gSa \ 

How do socio-economic facts affect agriculture ? 

4- Qly ladsUnzh;rk D;k gksrh gS \ 

What is Crop Concentration ? 

5- cxkrh d̀f”k ,oa O;kikfjd df̀”k esa D;k vUrj gksrk gS \ 

What is the difference between Plantation agriculture and 
Commercial agriculture.  

6- df̀”k ikfjfLFkfrdh izns’kksa dk vk/kkj crkb,A 

Explain the basis of Agro-ecological regions. 

7- Hkkjrh; df̀”k ij flapkbZ ds izHkko dks le>kb,A 

Explain the effect of irrigation of Indian agriculture. 

8- Hkkjrh; df̀”k {ks= esa efgyk jkstxkj ifjn’̀; ij ,d ys[k fyf[k,A 

Write an essay on Woman Employment Scenario in 
Agricultural Sector in India. 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A vf/kdre   150 ‘kCnksa esa mŸkj 
nhft,A 

 Attempt all questions. Write your answer using   150 
words. 

1- df̀”k Hkwxksy dh izdf̀r] fo”k;{ks= ,oa egRo dks le>kb,A 

Describe nature, scope and significance of Agricultural 
Geography. 

2- df̀”k Hkwfe mi;ksx ds HkkSfrd dkjdksa dh O;k[;k dhft,A 

Explain the physical determinants of Agricultural land use. 

3- Hkkjr ds df̀”k&tyok;q izns’kksa dk o.kZu dhft,A 

Describe agro-climatic regions of India. 

4- Hkkjr ljdkj dh orZeku [kk| lqj{kk ij ,d fucU/k fyf[k,A 

Write an essay on Food Security of present Government of 
India.  
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